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3. A scorpion is an undirected graph G of the following form: there are three
special vertices, called the sting, the tail, and the body, of degree 1, 2,
and n — 2, respectively. The sting is connected only to the tail; the tail is
connected only to the sting and the body; and the body is connected to
all vertices except the sting. The other vertices of G may be connected to
each other arbitrarily.

sting

body  tail

Give an algorithm that makes only O(n) probes of the adjacency matrix of
G and determines whether G is a scorpion. (This is a counterexample to an
earlier version of the famous Anderaa-Rosenberg conjecture, which stated
that any nontrivial graph property that is invariant under graph isomor-
phism requires 2(n?) probes of the adjacency matrix to test. Anderaa
disproved this version in 1975 using a different counterexample (see [91]),
but conjectured that it held for monotone properties (those that cannot
change from false to true when edges are deleted). This was later verified
by Rivest and Vuillemin [91].)
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3. Here is an algorithm that takes 5n probes of the adjacency matrix. Let
d(v) be the degree of vertex v. The main difficulty is to locate one of the
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interesting vertices (the body, tail, or sting); once we have done that, we
can locate all the other interesting vertices with 3n probes and check that
the graph is a scorpion. For example, if we have found a vertex v with
d(v) = n— 2, then that vertex must be the body if the graph is a scorpion.
By scanning the v*® row of the matrix, we can check that d(v) = n—2 and
determine its unique non-neighbor u, which must be the sting if the graph
is a scorpion. Then by scanning the u'® row, we can verify that d(u) = 1
and find its unique neighbor w, which must be the tail; and with n more
probes we can verify that d(w) = 2.

We start with an arbitrary vertex v, and scan the v row. If d(v) = 0 or
n — 1, the graph is not a scorpion. If d(v) =1, 2, or n — 2, then either v is
interesting itself or one of its 1 or 2 neighbors is, and we can determine all
the interesting vertices as above and check whether the graph is a scorpion
with at most 4n additional probes.

Otherwise, 3 < d(v) < n—3, and v is boring. Let B be the set of neighbors
of v and let S =V — (BU{v}). The body must be in B and the sting
and tail must be in S. Choose arbitrary z € B and y € S and repeat
the following: if 2 and y are connected, then delete y from S (y cannot
be the sting) and choose a new y € S. If x and y are not connected, then
delete z from B (z is not the body unless y is the sting) and choose a new
x € B. If the graph is indeed a scorpion, then when this process ends, B
will be empty and y will be the sting. To see this, observe that B cannot
be emptied without encountering the sting, because the body cannot be
deleted from B by any vertex in S except the sting; and once the sting is
encountered, all remaining elements of B will be deleted.

Whether or not the graph is a scorpion, the loop terminates after at most

n probes of the adjacency matrix, since after each probe some vertex is
discarded.

If a property is such that we have to look at every entry in the adjacency
matrix, then that property is said to be evasive. Many monotone graph
properties have been conjectured to be evasive. Yao [110] has shown that all
monotone bipartite graph properties are evasive if we are given a bipartite
adjacency matrix representation. The question for general graphs remains
open. Bollobds discusses this issue in his book [13]. He gives a 6n-probe
solution to the scorpion problem there.



